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If it is according to the 3129 — 33397 R29N ONR

Overview

X2X °21 ruled that if a on%w 5w W damaged, the P11 may collect from the
Jwa but not from [the 9wa corresponding to] the a™°k." The X3 asked if
X"7 is following the view of the 7127 (who argue with 01 '7), then it is Xp*wd
that he cannot be 721 the 77X 7310 7w3; why is it necessary for X"7 to
teach us this 7°7. It is not clear why according to the 1127; it is Xv*wd that he is
not 7213 from the 71X 7310 w2, Our MdOIN will cite s™"w1 explanation and
refute it, and offer an explanation of his own.

— (0w 1apy) NI9N P93 2103 5297 7YY 219997 13397 NIIN IN D90 W
s"w4 explained the X7); “if the ruling of XaR " concerning 21w °n7Y is

according to the 3239 who argue with 1''9 in ;779577 985 their argument is -
— 909 930 YY) NSNN BYYN NVN HyaT [BNa] 99N) DAY 19220 GNTY MY *a)

Concerning an ox that pushed another ox into a pit; where the 7127
maintain [if the goring ox is a an] that the owner of the ox pays half the

damage, and the owner of the pit is exempt from payment. This is the ruling of
the 7121.

N

W continues:
— 9921 Yyan abnwn XY MU Hyan 1MITNYNY XY 19 NIYN

It is evident from the ruling of the 1127, that when there is no complete
payment forthcoming from the =97 %ya (the 2 is merely a on and is
liable for only a 1"17), one cannot receive the remaining payment due, from

the =127 by -
— PHNN NI Y 2 DY 9N

And even though that the damaged 1w was found in the pit;* nevertheless
the P11 cannot collect from the 277 %¥2, and he must suffer the loss of a P11 °xn -
—99UD IND 1Y 129N 1139 19VAN N2 PNT RVIV)

!'Let us assume that the o> 5w MW (the pran W) is worth $100. It caused $100 worth of damage. Since
it is a an, if it would be a v1*777 P W the owner would be liable for $50. Let us assume that there is 60%
worth of 7wa (or $60) and 40% 11K (or $40) in this 27w 7MW. X2 °21 rules that the 7w %¥2 pays only
$30; half of what he damaged [the "wa did only 60% of the damage] which is $60 worth (the rest was done
by the 1 °X); since he is a an he pays a 1", which is $30. We do not say since the P11 was damaged for
$100 and (even) by a on he is entitled to a 1"n which is $50, and the v1>777 72 is worth $60, he should be
able to collect an additional $20 ([half] the value of the 1°X), for a total of $50, from the Ww2; but rather
the 11 suffers this loss of these $20. This is what is meant that he is not 1°17°X 7313 Twan 720,
* Mmoo quotes *"w the way *"wA explains the X723 in 71997 P19; not the way *"wA is cited here. See 2".
? In order to facilitate the understanding of mooIn, we will quote the X% in 77973 192 DX AATY MY X107
D2 I I3 727 ROINM XN 2YWH 127 DY AN 22w MW Y2 MR NI 27 710D 7127 5V 200 NWwh H¥a Mad
.TYIN2 R QN2 KA ROWR RY 3027 NWwR Sy 2phn B adwn a0
* Seemingly since the dead ox was found in the M3, the pr1 should be able to collect (something) from the
7127 %¥3, by arguing that my ox died in your pit (as the X3 asserts later). Nevertheless ...
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And therefore it is obvious that the 211 cannot collect from the meat of
the 0°now (which is 0°9va 1mn) corresponding to the fats (which is 2971 on
the matn and is w7p77 1mn)”°. This concludes the quote from *"w".

mooin first analyzes *"w" wD:
— 095 AYIY PN 912N DY) PIINN DD NYIY MYNY IVITON YHIUN

It seems from s""w" explanation that (in the case of 17721 nNX ANTY MW
T12°) the = does the entire damage and the =127 »2 does not do any

damage at all -
— PTIONN OM DY P OOYN TN MY 799N

Therefore a 7v» = pays the entire damage (since the 127 Hva is not

considered a ?71»; only the 7?) and a an pays a 2 321. The responsibility is
only on the Mwn Hva.
— T35 K9 DN NIN 779199 980 XY 799

And therefore the X could not infer anything (concerning 83°% °XR
"2 *XAn monwko) only from the ®an (that even though the on pays only a
P11 >x¥m, the Pr°1 cannot recoup his loss from the 71277 %¥2); but the X7
cannot infer anything from the case of a T¥ (for since the 79 pays a v"3, there
is no need to approach the M7 532).
— 19909 AN (mxarr vy 199N P93 19PY YT WD 19)

And *"v1 explained so explicitly® later in ;77577 P95 quote:

— TAYP POV P91 MWA YPAT $920) SIIN NIPIYM N3 1929 Yax
However the 3131 follow the initial *>’» and maintain therefore that the
= Yv2 did the entire damage; not the <1271 Y2 -

— (*39wn Hyay) P s8N DU BN BYY P DY VAN Yya 1na 7a5h
Therefore if the W is a 7¥m the Wi Yy pays a »"1, and by a an the 5va
TWwh pays a''n -

— 17091 NIV
And the P11 loses half. He cannot collect his half from the ™27 %v2 (who is not

responsible), for the 1127 maintain X% 22NWn K7 XA M2NWOKR? 82°% °2. This concludes
the citation from *"w in 7797 P79.

mdoIn has a difficulty with >"w77:
— 17P99ON 1230 DIVAN NN PNRT P27 139N PN 1939D DY

5 The money that he could have collected from the 17X (if it were not a 127p) cannot be charged to the
wan phn.

% Therefore in MooIn quote from *"wA the word an (which is inserted in brackets) is mentioned. The proof is
only from an and not from 7¥1.

" In our text it is found there in *xn 71"7.

¥ From the *"wA cited previously in mpon we can merely infer that only the 1 does the damage and not
the M. However in 117971 275 there '@ states clearly that only the MW is considered a °13; not the 72

? It was the 7MW that initiated the P1i1; the P 1971 W pushed the 117 W into the 72.

' These words are (seemingly) superfluous. In our *"wA there, the text reads '%379 o>wn w1 Yva anaY'. See
a" .
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And the "9 has a difficulty with s""w explanation. How does the X773
infer that according to the 7127 the P11 cannot collect from the meat 712
the 999N -

— NMYO TU9NY DN DIV 9130 JyaNn OHNWYN XYTNH
from the ruling that the pr1 cannot collect anything from the =127 %¥2 and
he loses half?! We cannot compare these two cases!

moon will now argue that these two cases (1w 2°»2w and 121 AnTw W) are not similar;
and 1?°17W 217w cannot be derived from an7w MW
— 5995 PHNN NYY XY MNIANY DIVN ONNT

For there (by an7w W) the reason he cannot collect from the 127 91 is

because the 912 did not do the damage at all (but not because ™>7nwR? 83*% 73
D) -

— PN 199195 NYY VANV DMIYYA HaN
However by »°17w 22 where the aw3a (which belongs to the o°%v2) also

damaged (like the P17°X) there we can say -
— WA 1 BINUN PININD HMINUNY NIYT 115

That since he cannot collect from the 1999298 (for it is not 177¥7) he should
collect from the w32 (which is vv77 1An).

mMooIn anticipates a difficulty and resolves it. Seemingly we can explain >"w" as follows.
Just as by the 713, the 71277 ¥2 is Mwd because he did not do any damage, similarly the
7w2a did only a part of the damage (a certain percentage), the rest was done by the 7°X;
it had nothing to do with the 7wa. Why should the 2w2a77 2 pay for something which he
did not do? It is similar to 712, as >"w1 explained it. Md0IN rejects this explanation.
— POV DY XNHWN NOY NI2D TN byT
For you must perforce assume that presently the X713 maintains that
when two parties damaged jointly, it is considered as if -
— Mqay NXPTA A99Y9 INDY 1Ay NPT 19919 NN
This one party did the entire damage, and this one party did the entire

damage. The 27 %v2 and the 1wn 91 each did the entire damage.

moon will now explain why we must assume that presently the X723 maintains 79913 X7
21 72V RPUTI:
— TPNNIYN T9°22 RNNT NDYV DINYIN 7PON NDT )10

Since it did not, as of yet, enter in the mind of the jwpn, the reason of ‘I
found the ox in your pit’. This reason is first introduced in the answer of the X2,

. N ) . . .
but not in the question. = Therefore since we do not assume this logic of 121 ¥7n,
therefore we must assume that 121 X157 17°912 °R7 -

"' The x73 in 7197 P70 explains the n12nn between 1" and the 1327 whether we maintain 717 79913 X
491 722V or if we maintain 121 72y Rp>1 Ra29 X7, Our RI23 assumes 7°2Y Xp 11 X213 X7 (as Nwon will shortly
prove).

"2 nowx 77°22 XN is why the 1127 9v2 is required to pay regardless, since the death occurred in the 2.
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— 72y RPN RIDD 1M 11 D5 INY
For if we are to assume (now) that each one (the " w7 va and the 71277 5v2)

did only half the damage, then -
— YTV NNN N 1INT DOPYN WLV AN Yya 11 2245 Bna aYYs HnY

Why according to 1" does the =277 »v2 have to pay three (fourths) of the

damage by a an, which is more than he actually damaged. If we were to
maintain 72y X1 7910 K7, we can understand why the 71277 %2 pays three fourths,
since he (also) did the entire damage. Therefore we collect what we can from the 5va
i (which is one fourth) and the rest the M2n %¥2 is required to pay, justifiably, since
T2y Xpo1 7910, However if 2y Xpoti X399 then why should the M1277 a2 pay the extra
fourth that he did not damage?!

— 119912 NINTI 9130 1Y PN DYV XYY
And it is evident in 7957 poo that without a valid reason we cannot

obligate him to pay.'’ Therefore we must say that at this point the assumption is that *X7
ay xpo11 1912, The same will apply in the case of 7712 XY w2 that each part of the ox
did the entire damage. How then can we compare the case of 12 (which according to the
7127 is not a p°1a) to the case of 2°nW where the w2 is a P°m2; and as a P> we assume
that 12y X177 79913, so the w2 Yv2 should pay for whatever we cannot collect from the
PIR!

moon has an additional question on >"w7. It was mentioned before, that the proof
according to >"w1 is from the case of an; here purportedly the 2w Yv2 pays half and the
277 %¥2 is M. MooIn challenges this assumption:

— 9109 9921 Y¥2) NENM NHIYN H¥a BYYN DN 133997 XY 19Y NI M
And furthermore how did the X923 know that according to the j129, that
by a an, the = w1 Y2 pays half and the =127 pa is " w?

— N8NM BYYN 92N Hya) NENN BHYN NIVYN Hya DN XYY

Perhaps by a an the =7 va pays half and the 21277 H¥2 pays half -

— Paima $9998 V9 NaN P2 S9INT 1929
and when the 1127 state in the Xn>12 that the =277 %2 is 2wwp; that is if it
was a T¥I. However by a on they both pay half. There is therefore no proof altogether
that the 13127 maintain X2 220Wn X7 X771 21PNWRY X205 0.

In summation: According to *"w" the proof that the 7127 maintain X% *X77 "2NWR? K9 *3
Xin 072nwn is from the fact that if the P>1m MW is a an, the 27 ¥ is completely Mwo.

"3 The xm3 there asks (for instance) if we maintain that 12 722y XpT1 899 X7, why (according to 1"7) does

the ™27 2¥2 pay o°pon .

'* Seemingly the proof of MmooIN is (only) that 3" maintains 72y Xp*177 79912 °K17; it is possible that the 7321 do

not agree and they maintain 72y Rp11 X3?9; therefore the Xv*w» is valid that we cannot collect from the 5¥3a

PR A0 M. See 7"w 0"17n who explains that since it is possible that the 13127 also maintain 7213 X1

7Y ®°17, then how can the Xn3 ask Rvwd; if 72y RP>177 X9, it is not Rw*w? at all 0°1931. See also ‘Thinking

itover’ # 1.

'> The ®n™72 (on &,31 A7) reads as follows: 2¥2 X 17 MWD M7 H¥2 20 MW H¥2 MY 120 DR ANTY N
W WYLIRAN OPWR 2T DY XN 02wn Wi

[This Xn™72 is discussing a v as the X3 there concludes. ]
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mooIn has two questions on *"w1. First, that by the o»>w there is all the reason to pay
since he did the damage (and we must be assuming now that 752y Xp°11 7°215 °Ri7) however
by the M2 the 7127 assume (according to ") that only the MW did the damage. Two,
where is it indicated that by a an, the 71277 Hv2 is Mwo?

mooin offers his explanation:
— 99 912N J¥2Y 29N NIVN DY Y9INT 19297 PN 139297 AN

And the "1 is of the opinion that when the 3121 state that the 2w Hva is

2% and the 79277 B2 is 7D -
— 59929 IV 9130 YY) P29 DN TN NSNN DIYN NWH HYaT 1390

It means that the = ®pa pays half of the entire damage if the p> 17 W
was a 7vm, and if it was a an, the Wi va pays a fourth of the damage;
however the 71277 ®v2 is completely 215; regardless if it was a an or a T —

The reason the 71277 5¥2 is Mo is (not as *"w1 explained that we do not consider him a
P°11, but rather) - y
— 9V NNY 595 N7 XIHN 9T NI NIN 912 2IN51 29N NHY

Because the 7710 obligated the ™27 Yv2 to pay only when the animal fell

into the 712 by itself, as it is written ;72w %529, and it fell into the 712 (meaning
the animal fell of its own accord) -
— 7921 Hya 9109 922 NN 07291 OYINN BN AN

However if others cause him to fall into the =12, then the =257 ®»a is "ws.

mooIn continues with the explanation of our X723:
— VN Hyan osNWN XY 9120 Ty MMTNYND R 3 Y9N NN XYWIT 951 NI

And the explanation here in our X72) is thus; ‘but the 7127 maintain that
if payment cannot be collected from the =127 Y¥2 (because of the [just

mentioned] T of 72w 951), it is not collected from the =W ®pa’ -
— 9999 NN TaY NPT K912 IND 1Y K207 23 Yy 9N

Even though we presently assume (as Mmo1n previously pointed out'’) that
this one did the entire damage, and this one, etc. If the "wn 5v2 and the Y¥a
71277 both did the entire damage, then if we cannot collect from the T2 9¥2 (on account
of the ?109), the P11 should be able to collect the remainder'® from the 7wn Y¥a who did
the entire damage. The fact that we cannot collect the remainder from the 1w %v2 proves
that (the 7127 maintain) >X77 220w RS X772 MMI2NWIRY R 9D -

— NAN %2919 VN NP ONMD JA2IMN 1533 190N N3N PRT NVIVD)
And it is obvious" that he cannot collect 37713 7313 1wan; so what is
X''9 teaching us when he ruled that 777°X 7310 TIWwan 721 PR?!

1 35,80 (2vown) Nmw.

' See previous footnote # 14 that we are not able to prove conclusively that the 1127 maintain X1 721
72v; nevertheless NN question is valid in either case, whether we maintain X213 or 72y RpTi7 X379,

'8 If the " was [a 73, the 7w Y2 should pay a w"1 (not a 1"n) and if he was] a on, he should pay 1"n (not
P11 ¥°27).

" For (seemingly) it is the same situation.
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mooin asks (a question similar to that which he previously asked on *"w"):
— 9512917939910 IND 299N 9N DY) 1329 9INPT RNT N0 99NN ON)

And if you will say; how does the X723 know that when the 3139 stated
2%°m w7 dway, it does not mean he pays everything (if he is a **7v1)?*'

N1B0IN answers:
— Y99 19 190 NWUN ITYUNA 1339 11 239 19 1N INT MY U

And one can say that if 1'% and the 1139 are arguing concerning the

payment of the mw,” it should have been specified in the xn>12 that the 1327
disagree with 1"7. (the view of 1"7 is clearly stated in the [two] Mn>72) -
— NM2 11 2299 919 N9 YNV IV NI

And since the &n» 72 did not specify it, this indicates that the 1127 agree
with 1'"9 in regards to the payment. A on pays p11¥°37 and a T a w"1,

mooin offers an alternate answer why we cannot assume that the Wi 9¥2 pays a w"1:
— VN Hyab H5N 1929 22NNT NN OXT NI

And furthermore if indeed the 3139 obligate the = w1 “pa2 to pay

everything, then -
+ 8N NYN DYUN PNRT 999915 113 %2499 7Y 1)

1""9 should have stated clearly that the "W %¥2 pays only half to indicate
that he disagrees with the 2°n21 (and not to [merely] state that he pays half).”* Therefore
we must conclude that 1"1 and the 7127 argue only concerning the 127 %¥2; however
concerning the MW 9¥2 both agree that by a on he pays a 1"n and by a 73 ma w"l.

Summary
""w7 maintains that the opinion of the 1127 is that the 7127 %va is Mwo

(because [according to Moon understanding] he is not a 1) and the 5va
7w has to pay a 1"n for a an and a w"1 for a 7. We know that the 7127
maintain *R171 220wR &2 R MPNWRS 82°% °3 from the fact that the M27 Hv2
1s Mva by a an.

MooIN maintains that by a on the Wi v pays a P11 ¥°27 and by a 79m a1'n.
The proof that the 7127 maintain that >X7n 22nwn R XD M2NWRY XD % is
from the fact that the Wi 2¥2 dos not pay for the exemption of the M2 va.

Thinking it over

%0 See “Thinking it over # 2.

U If the 7w Yva pays everything (by a 79 and a 1" by a on), then we cannot derive that "2nw°X? X2 *3
121 R *RiIn, because they are already paying everything (that is possible).

*% 1" maintains that a on pays a pr ¥°27 and a 797 pays a 1"1, and agrees with the 1321 in this (according to
nmooIn).

2 mpon two answers resolve the question, from both the statement of the 7127 and from the statement of
"
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1. mooIn asks that since the X123 now assumed that 72y Xp T X210 X7 we
cannot compare 12 to ‘ombw Sw w. Seemingly it is not necessary to
assume this in order to challenge >"w7. The 1127 maintain (according to >"w")
that the 712 is not the P>, however by on%w Hw W the w2 is certainly a
1. Therefore we cannot compare M2 to 22w MW; by M2 he is MWD (not
because of X D2WNR K2 RN "M2NWR? XD °X, but rather) because he is not
the P>1»; however the 2wa is the P, therefore we assume M172nWR? K29
X oo nwn xan.?

2. mpoin asks®® that how do we know that the 7127 do not maintain that the
Wi %¥2 is 271 for everything. Is this question limited to the 737 or even to
the on as well?”’

3. How do we understand the idea that 121 72 Xp°177 7712 °X7? How can it
apply to T 1°X) 7wa which are seemingly (only) one p*1?”

** See footnote # 14. The s'7">w 0" explanation (also) requires some clarification. Why is it necessary to
prove that we are now assuming (according to 1"1) that 72v Xp*177 77°213 °Ki1, even if we have no proof at all;
we can nevertheless ask how can the Jwpn say Xv>w», when it is possible that the 13137 maintain P°173 7713 X7
7°2v. Why the need to say 2"v?!

» See 7yn MR 1" 40 ,R"py w170 and v MR 710 .

*® See footnote # 20.

*7 See ow MIX "2,

2 See 2"¥1 17"72 YN NIX 1" 1 and 7981 '3 MR 7"O0.
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